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Seat No.: ________                                                           Enrolment No.___________ 

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering - SEMESTER–II • EXAMINATION – SUMMER • 2014 

Subject Code: 3325002 Date: 10-06-2014        

Subject Name: Architectural Drawing-II 

Time: 10:30 am - 01:30 pm Total Marks: 70 
Instructions: 

1. Attempt any five questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks.  

4. Each question carry equal marks (14 marks) 

 

Q.1  A rectangular block, 30 mm x 20 mm x 15 mm, is lying on the ground plane 

on one of its largest faces. A vertical edge is in the picture plane and the 

longer face containing that edge makes an angle of 30º with the picture plane. 

The station point is 50 mm in front of the picture plane, 30 mm above the 

ground plane and lies in a central plane which passes through the centre of the 

block. Draw the perspective view of the block.  

14 

    
Q.2 (a) Draw the projections of a cube of 50 mm long edges resting on the H.P. with 

its vertical faces equally inclined to the V.P. 
07 

 (b) Draw the projections of a cylinder, base 50 mm diameter and axis 60 mm 

long, resting on the ground on its base. 
07 

  OR  

 (b) Draw the projections of a cone, base 50 mm diameter and axis 60 mm long, 

resting on the ground on its base. 
07 

    
Q.3  A square pyramid, base 40 mm side and axis 65 mm long has its base on the 

H.P. and all the edges of the base equally inclined to the V.P. It is cut by a 

section plane, perpendicular to the V.P., inclined at 45º to the H.P. and which 

bisects the axis of the pyramid. Draw its sectional top view, sectional side 

view and the true shape of the section. 

14 

  OR  

Q.3 (a) A triangular prism, base 40 mm side and axis 60 mm long, is lying on the H.P. 

on one of its rectangular faces with its axis inclined at 32º to the V.P. It is cut 

by a horizontal section plane, at a distance of 10 mm above the ground. Draw 

its front view and sectional top view. 

07 

 (b) A cylinder of 50 mm diameter, 70 mm height and having its axis vertical is 

cut by a section plane, perpendicular to the V.P., inclined at 45º to the H.P. 

and intersecting the axis 30 mm above the base. Draw its front view, sectional 

top view and sectional side view.  

07 

    
Q.4 (a) Draw the development of the lateral surface of the part ‘P’ of the pentagonal 

prism shown in figure: 1. 
07 

 (b) Draw the development of the lateral surface of the part ‘P’ of the triangular 

prism shown in figure: 2. 
07 

  OR  

Q. 4 (a) Draw the development of the lateral surface of the part ‘P’ of the hexagonal 

prism shown in figure: 3. 
07 

 (b) Draw the development of the lateral surface of the part ‘P’ of the truncated 

cylinder shown in figure: 4. 
07 

    
Q.5 (a) Draw the projections of a square prism side of the base 40 mm long and the 

axis 65 mm long, base on the H.P., a side of the base inclined at 30º to the 
07 
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V.P. and the axis 50 mm in front of the V.P.  

 (b) A pentagonal pyramid, base 30 mm side and axis 65 mm long, has its base 

horizontal and an edge of the base parallel to the V.P. A horizontal section 

plane cuts it at a distance of 25 mm above the base. Draw its front view and 

sectional top view. 

07 

  OR  

Q.5  Draw the plan of a 2 BHK residence and render it with usual rendering 

techniques. 
14 

    
 

************ 

 

 

 

ગજુરાતી 
પ્રશ્ન. ૧  ૩૦ ભી.ભી. x ૨૦ ભી.ભી. x ૧૫ ભી.ભી., ભા઩નો એક રફંચોયવ બ્રોક, તેની કોઈ 

એક રાફંી ફાજુ ઩ય જભીન ઩ય એલી યીતે ઩ડેરો છે કે જેથી તેની ઊબી ધાય 
઩ીક્ચય પ્રેનને અડીને યશ ે તેભજ ધાયલા઱ી રાફંી ફાજુ ઩ીક્ચય પ્રેન વાથે 
૩૦º નો ખણૂો ફનાલે. સ્ટેળન ઩ોઈન્ટ બ્રોક્ની ભધ્મભાથંી ઩વાય થતા વેન્રર 
પ્રેનભા ં આલેર છે તથા ઩ીક્ચય પ્રેનની ૫૦ ભી.ભી. આગ઱ની ફાજુ તથા 
ગ્રાઉન્ડ પ્રેનથી ૩૦ ભી.ભી. ઉ઩યની તયપ છે. બ્રોક્નો ઩વસ઩ેક્ટીલ દેખાલ દોયો.           

૧૪ 

    
પ્રશ્ન. ૨ અ ૫૦ ભી.ભી. રાફંી ફાજુલા઱ો એક વભઘન તેના ઩ામાની ફાજુઓ V.P. વાથ ે

વયખે ખણેૂ યશ ેએભ H.P. ઩ય ઩ડેરો છે. તેના પ્રોજેક્ળન્વ દોયો.       
૦૭ 

 બ ૫૦ ભી.ભી. વ્માવ અને ૬૦ ભી.ભી. ધયીલા઱ો એક ન઱ાકાય તેના ઩ામા ઩ય 
જભીન ઩ય ઩ડેરો છે. તેના પ્રોજેક્ળન્વ દોયો.    

૦૭ 

  અથવા  

 બ ૫૦ ભી.ભી. વ્માવ અને ૬૦ ભી.ભી. ધયીલા઱ો એક ળકું તેના ઩ામા ઩ય જભીન 
઩ય ઩ડેરો છે. તેના પ્રોજેક્ળન્વ દોયો.    

૦૭ 

    
પ્રશ્ન. ૩  ૪૦ ભી.ભી. ઩ામાની ફાજુ અને ૬૫ ભી.ભી. ધયીની રફંાઈલા઱ો એક ચોયવ 

પ઩યાભીડ તેના ઩ામાન ેH.P. ભા ંયાખી એલી યીતે ઩ડેરો છે કે તેના ઩ામાની દયેક 
ફાજુ ઊબી વ઩ાટી વાથે વયખે ખણેુ યશ.ે V.P. ને રફં અને H.P. વાથે ૪૫º નો 
ખણૂો ફનાલતી એક છેદક વ઩ાટી પ઩યાભીડની ધયીને દુબાગીને કા઩ે છે. 
ક઩ામેરા પ઩યાભીડનો પ્રાન, ફાજુનો દેખાલ તથા ક઩ામેરી વ઩ાટીનો વાચો 
આકાય દોયો.    

૧૪  

  અથવા  

પ્રશ્ન. ૩ અ પિકોણીમ પપ્રઝભ, જેની ફાજુ ૪૦ ભી.ભી. અને ધયી ૬૦ ભી.ભી. રાફંી છે. તેનુ ં
એક રફંચોયવ ઩ાસ ુ H.P. ઩ય એ યીતે ઩ડેર છે જેથી તેની ધયી V.P. વાથ ે
૩૨ºનો ખણૂો ફનાલે. તનેે એક આડી છેદક વ઩ાટી જભીનથી ૧૦ ભી.ભી. ઊ઩ય 
છેદે છે. તેનો આગ઱નો દેખાલ અને છેદામેરા બાગનો ઊ઩યનો દેખાલ દોયો.    

૦૭ 



3/4 

 બ ૫૦ ભી.ભી. વ્માવ અને ૭૦ ભી.ભી. ઊંચાઈલા઱ા ન઱ાકાયની ધયી ઊબી યશ ેતેભ 
઩ડેર છે. તેને એક છેદક વ઩ાટી V.P.ને રફં તેભજ H.P. વાથે ૪૫ºનો ખણૂો 
ફનાલીને ઩ામા થી ૩૦ ભી.ભી. ઉ઩ય યશીને છેદે છે. તેનો વાભેનો દેખાલ, 
છેદામેરો ઉ઩યનો દેખાલ અને છેદામેરો ફાજુનો દેખાલ દોયો.      

૦૭ 

    
પ્રશ્ન. ૪ અ આકૃપત: ૧ભા ંદળાસલેર ઩ચંકોણીમ પપ્રઝભના ‘P’ બાગની વ઩ાટીનુ ંપલસ્તયણ કયો.    ૦૭ 

 બ આકૃપત: ૨ભા ંદળાસલેર પિકોણીમ પપ્રઝભના ‘P’ બાગની વ઩ાટીનુ ંપલસ્તયણ કયો.    ૦૭ 

  અથવા  

પ્રશ્ન. ૪ અ આકૃપત: ૩ભા ંદળાસલેર ઴ટકોણીમ પપ્રઝભના ‘P’ બાગની વ઩ાટીનુ ંપલસ્તયણ કયો.    ૦૭ 

 બ આકૃપત:૪ભા ંદળાસલેર ક઩ામેરા ન઱ાકાયના ‘P’ બાગની વ઩ાટીનુ ંપલસ્તયણ કયો.    ૦૭ 

    
પ્રશ્ન. ૫ અ ૪૦ ભી.ભી. ફાજુ અને ૬૫ ભી.ભી. ધયીલા઱ો એક ચોયવ પપ્રઝભનો ઩ામો V.P. 

વાથે ૩૦ºનો ખણૂો ફનાલીને તેના ઩ામા ઩ય H.P. ઩ય ઩ડેરો છે. તેભજ તેની 
ધયી V.P. થી ૫૦ ભી.ભી.આગ઱ની ફાજુ આલેરી છે. તેના પ્રોજેક્ળન્વ દોયો.      

૦૭ 

 બ ૩૦ ભી.ભી. ફાજુ અને ૬૫ ભી.ભી. ધયીલા઱ો એક ઩ચંકોણીમ પ઩યાભીડનો ઩ામો  
આડો યશરે છે તથા તેના ઩ામાની એક ધાય ઊબી વ઩ાટીન ેવભાતંય છે. એક 
આડી છેદક વ઩ાટી ઩ામાથી ૨૫ ભી.ભી. ઉ઩ય યશીને તેને છેદે છે. તેનો વાભેનો 
દેખાલ અને ક઩ામેરો ઉ઩યનો દેખાલ દોયો.      

૦૭ 

  અથવા  

પ્રશ્ન. ૫  ૨ રૂભ, 1 શોર અને યવોડાલા઱ા ઘયનો પ્રાન દોયો અને તેને પલપલધ યેન્ડયીંગ 
ની ઩દ્ધપતઓ લડે યેન્ડય કયો.  

૧૪ 

 

************ 
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